## AN INVESTIGATION OF THE SOLUTIONS FOR RATIONAL SYSTEMS OF DIFFERENCE EQUATIONS OF ORDER TWO

NISREEN A. BUKHARY $^{1,2,\ast}$  AND ELSAYED M. ELSAYED $^{1,3}$ 

ABSTRACT. This paper is concerned to investigate the form of the solutions of the following systems of difference equations of second order.

$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\pm \omega_{n-1} \pm \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{\pm \mu_{n-1} \pm \omega_{n-1}}, \quad n = 0, 1, \dots$$

where the initial conditions are arbitrary nonzero real numbers. Moreover, we verify our theoretical outcomes at the end with some numerical applications and draw them using some mathematical programs to illustrate the results.

## 1. INTRODUCTION

This paper is devoted to investigate the behavior of the solution of the following system of difference equation

(1) 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\pm \omega_{n-1} \pm \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{\pm \mu_{n-1} \pm \omega_{n-1}}, \quad n = 0, 1, ...,$$

where the initial conditions are arbitrary nonzero real numbers. For the last decade, there have been a lot of research activities related to the qualitative analysis of rational difference equations and systems of order greater than one. One of the reasons for this is that it is widely used to investigate equations arising in mathematical models describing real-life phenomena. For example, biology, economics, probability theory, etc.

There are many papers related to difference equation systems of order greater than one; for example, The form of the solutions to the rational difference equations system

$$\mu_{n+1} = \frac{A\mu_n + \omega_n}{\mu_{n-p}}, \quad \omega_{n+1} = \frac{A + \mu_n}{\omega_{n-q}},$$

have obtained by Papaschinopoulos and Schinas in [1].

Grove et al. [2] studied existence and behavior of solutions of the rational system

$$\mu_{n+1} = \frac{a}{\mu_n} + \frac{b}{\omega_n}, \quad \omega_{n+1} = \frac{c}{\mu_n} + \frac{d}{\omega_n}$$

*E-mail addresses*: nisreenbukhary@gmail.com, emmelsayed@yahoo.com.

Key words and phrases. system of difference equations; stability; periodic solution; boundedness. Received 24/08/2023.

<sup>&</sup>lt;sup>1</sup>King Abdulaziz University, Faculty of Science, Mathematics Department, P.O.Box 80203, Jeddah 21589, Saudi Arabia

<sup>&</sup>lt;sup>2</sup>Faculty of Science, Mathematics Department, Majmaah University, Saudi Arabia

<sup>&</sup>lt;sup>3</sup>Faculty of Science, Mathematics Department, Mansoura University, Mansoura 35516, Egypt

Yang et al. [3] investigated the behavior of the solutions of the system

$$\mu_n = \frac{a}{\omega_{n-p}}, \quad \omega_n = \frac{b\omega_{n-p}}{\mu_{n-q}\omega_{n-q}}.$$

Din et al. [4] studied the behavior of the solutions of the following fourth-order system of rational difference equations of the form

$$\mu_{n+1} = \frac{\alpha \mu_{n-3}}{\beta + \gamma \omega_n \omega_{n-1} \omega_{n-2} \omega_{n-3}}, \qquad \omega_{n+1} = \frac{\alpha_1 \mu_{n-3}}{\beta_1 + \alpha_1 \mu_n \mu_{n-1} \mu_{n-2} \mu_{n-3}}.$$

Touafek and Elsayed [5] investigated the periodic nature and gave the form of the solutions to the following systems of rational difference equations

$$\mu_{n+1} = \frac{\omega_n}{\mu_{n-1}(\pm 1 \pm \omega_n)}, \qquad \omega_{n+1} = \frac{\mu_n}{\omega_{1-1}(\pm 1 \pm \mu_n)}.$$

El-Metwally [6] found the solutions form for the following systems of rational difference equations

$$\mu_{n+1} = \frac{\mu_{n-1}\omega_n}{\pm \mu_{n-1} \pm \omega_{n-2}}, \qquad \omega_{n+1} = \frac{\omega_{n-1}\mu_n}{\pm \omega_{n-1} \pm \mu_{n-2}}.$$

Kara and Yazlik, [7] investigated the following higher order system of nonlinear difference equations

$$\mu_n = \frac{\mu_{n-k}\omega_{n-k-l}}{\omega_{n-l}(a_n + b_n\mu_{n-k}\omega_{n-k-l})}, \qquad \omega_n = \frac{\omega_{n-k}\mu_{n-k-l}}{\mu_{n-l}(\alpha_n + \beta_n\omega_{n-k}\mu_{n-k-l})}$$

Elsayed et al. [8] investigated the periodic nature of the solutions of the following systems of rational difference equations

$$\mu_{n+1} = \frac{1 \pm z_n}{\omega_{n-1}}, \ \omega_{n+1} = \frac{1 \pm \mu_n}{z_{n-1}}, \ z = \frac{1 \pm \omega_n}{\mu_{n-1}}$$

The dynamics of positive solutions for a system of rational difference equations of the following form

$$\mu_{n+1} = \frac{\alpha \mu_{n-1}^2}{\beta + \gamma \omega_{n-2}}, \qquad \omega_{n+1} = \frac{\alpha_1 \omega_{n-1}^2}{\beta_1 + \gamma_1 \mu_{n-2}}.$$

have been investigated by the authors in [9].

Buyuk and Taskara [10] investigated the form of the solutions of the following rational difference equation system

$$\mu_n = \frac{\nu_{n-1}\nu_{n-3}}{\mu_{n-2} + 2\nu_{n-3}}, \omega_n = \frac{\mu_{n-1}\mu_{n-3}}{-\omega_{n-2} + 6\mu_{n-3}}, \nu_n = \frac{\omega_{n-1}\omega_{n-3}}{\nu_{n-2} + 14\omega_{n-3}}, \mu_n = \frac{\mu_{n-1}\mu_{n-3}}{\mu_{n-2} + 14\omega_{n-3}}, \mu_n = \frac{\mu_{n-1}\mu_{n-3$$

In addition, other related results to the difference equations and nonlinear system of rational difference equations can be found in Ref. [11]- [16] and the references cited therein.

2. The System: 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\omega_{n-1} + \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{\mu_{n-1} + \omega_{n-1}}$$

In this section, we obtain the form of the solutions of the system of the difference equations:

(2) 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\omega_{n-1} + \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{\mu_{n-1} + \omega_{n-1}}.$$

**Theorem 2.1.** Assume that  $\{\mu_n, \omega_n\}$  is a solution of system (2). Then for n = 1, 2, ..., we have

$$\begin{split} \mu_{6n} &= \frac{a(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}, \\ \mu_{6n+1} &= \frac{ad(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad)^{2n}}, \\ \mu_{6n+2} &= \frac{acd(bc+ad)(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \\ \mu_{6n+3} &= \frac{c(abcd)^{2n+1}}{\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \\ \mu_{6n+3} &= \frac{c(abcd)^{2n+1}}{\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \\ \mu_{6n+4} &= \frac{bc(abcd)^{2n+1}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n+2}}, \\ \mu_{6n+5} &= \frac{(bc+ad)(abcd)^{2n+2}}{d\{(a+c)(b+d)(cb+ad)\}^{2n}}, \\ \omega_{6n} &= \frac{c(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}, \\ \omega_{6n+1} &= \frac{bc(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n}}, \\ \omega_{6n+2} &= \frac{(bc+ad)(abcd)^{2n+1}}{d\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \\ \omega_{6n+3} &= \frac{a(abcd)^{2n+1}}{\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \\ \omega_{6n+4} &= \frac{(ad)^{2n+2}(bc)^{2n+1}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \\ \omega_{6n+5} &= \frac{(bc+ad)(abcd)^{2n+2}}{b\{(a+c)(b+d)(cb+ad)\}^{2n+2}}, \end{split}$$

where  $\mu_{-1} = b$ ,  $\mu_0 = a$ ,  $\omega_{-1} = d$  and  $\omega_0 = c$ .

*Proof.* By using mathematical induction, we can prove the following: For n > 0 the result holds. Assume that the result holds for n - 1, as follows:

$$\begin{split} \mu_{6n-1} = & \frac{(bc+ad)(abcd)^{2n+1}}{d\{(a+c)(b+d)(cb+ad\}^{2n+1})}, \\ \mu_{6n-2} = & \frac{bc(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad\}^{2n})}, \\ \mu_{6n-2} = & \frac{bc(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad\}^{2n})}, \\ \mu_{6n-3} = & \frac{c(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}, \\ \mu_{6n-4} = & \frac{acd(bc+ad)(abcd)^{2n-1}}{\{(a+c)(b+d)(cb+ad\}^{2n})}, \end{split}$$

$$\begin{split} \mu_{6n-5} &= \frac{ad(abcd)^{2n-1}}{(b+d)\{(a+c)(b+d)(cb+ad\}^{2n-1})}, \\ \mu_{6n-5} &= \frac{ad(abcd)^{2n-1}}{(b+d)\{(a+c)(b+d)(cb+ad\}^{2n-1})}, \\ \omega_{6n-5} &= \frac{(bc+ad)(abcd)^{2n+1}}{b\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \\ \omega_{6n-2} &= \frac{(ad)^{2n+1}(bc)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad\}^{2n})}, \\ \omega_{6n-3} &= \frac{a(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad\}^{2n})}, \\ \omega_{6n-4} &= \frac{(bc+ad)(abcd)^{2n}}{d\{(a+c)(b+d)(cb+ad)\}^{2n}}, \\ \omega_{6n-5} &= \frac{bc(abcd)^{2n-1}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n-1}}. \end{split}$$

Then, from equation (2), it follows that

$$\begin{split} \mu_{6n-1} &= \frac{\mu_{6n-2}\omega_{6n-3}}{\omega_{6n-3} + \mu_{6n-3}} &= \frac{\left(\frac{bc(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n}}\right)\left(\frac{a(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}\right)\left(\frac{a(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}\right)} \\ &= \frac{(abc)(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n}(a+c)} \cdot \frac{d.(bc+ad)}{d.(bc+ad)} \\ &= \frac{(bc+ad)(abcd)^{2n+1}}{d\{(a+c)(b+d)(cb+ad)\}^{2n+1}}, \end{split}$$

and,

$$\begin{split} \omega_{6n-1} &= \frac{\omega_{6n-2}\mu_{6n-3}}{\mu_{6n-3} + \omega_{6n-3}} &= \frac{\left(\frac{(ad)^{2n+1}(bc)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n}}\right)\left(\frac{c(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}\right)}{\left(\frac{c(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}\right) + \left(\frac{a(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}\right)} \\ &= \frac{(adc)(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}(b+b)(c+a)} \cdot \frac{b.(bc+ad)}{b.(bc+ad)} \\ &= \frac{(bc+ad)(abcd)^{2n+1}}{b\{(a+c)(b+d)(cb+ad)\}^{2n+1}}. \end{split}$$

We also see that,

$$\mu_{6n+1} = \frac{\mu_{6n}\omega_{6n-1}}{\omega_{6n-1} + \mu_{6n-1}} = \frac{\left(\frac{a(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}\right)\left(\frac{(bc+ad)(abcd)^{2n+1}}{b\{(a+c)(b+d)(cb+ad)\}^{2n+1}}\right)}{\left(\frac{(bc+ad)(abcd)^{2n+1}}{b\{(a+c)(b+d)(cb+ad)\}^{2n+1}}\right) + \left(\frac{(bc+ad)(abcd)^{2n+1}}{d\{(a+c)(b+d)(cb+ad)\}^{2n+1}}\right)} \\ = \frac{a(abcd)^{2n}(bc+ad).d}{\{(a+c)(b+d)(cb+ad)\}^{2n}.(bc+ad).(d+b)} \\ = \frac{ad(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n}},$$

and,

$$\begin{split} \omega_{6n+1} &= \frac{\omega_{6n}\mu_{6n-1}}{\mu_{6n-1} + \omega_{6n-1}} \quad = \frac{\left(\frac{c(abcd)^{2n}}{\{(a+c)(b+d)(cb+ad)\}^{2n}}\right) \left(\frac{(bc+ad)(abcd)^{2n+1}}{d\{(a+c)(b+d)(cb+ad)\}^{2n+1}}\right)}{\left(\frac{(bc+ad)(abcd)^{2n+1}}{d\{(a+c)(b+d)(cb+ad)\}^{2n+1}}\right) + \left(\frac{(bc+ad)(abcd)^{2n+1}}{b\{(a+c)(b+d)(cb+ad)\}^{2n+1}}\right)} \\ &= \frac{c(abcd)^{2n}(bc+ad).b}{\{(a+c)(b+d)(cb+ad)\}^{2n}(cb+ad)(d+b)} \end{split}$$

$$=\frac{bc(abcd)^{2n}}{(b+d)\{(a+c)(b+d)(cb+ad)\}^{2n}}.$$

Hence, we can easily proof the other relations. The proof has been done.

**Example 2.1** Figure 1 illustrates the behavior of the solutions of the system of difference equations (2) when the initial conditions  $\mu_{-1} = 4.5$ ,  $\mu_0 = -4.5$ ,  $\omega_{-1} = -3.1$ ,  $\omega_0 = 8.2$ .



FIGURE 1. Sketch the behavior of the solution of (2)

3. The System: 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{-\omega_{n-1} - \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{-\mu_{n-1} - \omega_{n-1}}$$

In this section, we get the solutions to the following system of difference equations:

(3) 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{-\omega_{n-1} - \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{-\mu_{n-1} - \omega_{n-1}}$$

**Theorem 3.1.** Assume that  $\{\mu_n, \omega_n\}$  is a solution of system (3). Then for n = 1, 2, ..., we have

$$\begin{split} \mu_{6n} &= \frac{a(abcd)^{2n}}{\{(-a-c)(-b-d)(-cb-ad)\}^{2n}}, \\ \mu_{6n+1} &= \frac{ad(abcd)^{2n}}{(-b-d)\{(-a-c)(-b-d)(-cb-ad\}^{2n}}, \\ \mu_{6n+2} &= \frac{acd(-bc-ad)(abcd)^{2n}}{\{(-a-c)(-b-d)(-cb-ad\}^{2n+1}}, \\ \mu_{6n+3} &= \frac{c(abcd)^{2n+1}}{\{(-a-c)(-b-d)(-cb-ad)\}^{2n+1}}, \\ \mu_{6n+4} &= \frac{bc(abcd)^{2n+1}}{(-b-d)\{(-a-c)(-b-d)(-cb-ad\}^{2n+2})}, \\ \mu_{6n+5} &= \frac{(-bc-ad)(abcd)^{2n+2}}{d\{(-a-c)(-b-d)(-cb-ad\}^{2n+2})}, \\ \omega_{6n} &= \frac{c(abcd)^{2n}}{\{(-a-c)(-b-d)(-cb-ad)\}^{2n}}, \end{split}$$

$$\begin{split} \omega_{6n+1} &= \frac{bc(abcd)^{2n}}{(-b-d)\{(-a-c)(-b-d)(-cb-ad)\}^{2n}},\\ \omega_{6n+2} &= \frac{(-bc-ad)(abcd)^{2n+1}}{d\{(-a-c)(-b-d)(-cb-ad)\}^{2n+1}},\\ \omega_{6n+3} &= \frac{a(abcd)^{2n+1}}{\{(-a-c)(-b-d)(-cb-ad)\}^{2n+1}},\\ \omega_{6n+4} &= \frac{(ad)^{2n+2}(bc)^{2n+1}}{(-b-d)\{(-a-c)(-b-d)(-cb-ad)\}^{2n+1}},\\ \omega_{6n+5} &= \frac{(-bc-ad)(abcd)^{2n+2}}{b\{(-a-c)(-b-d)(-cb-ad)\}^{2n+2}}, \end{split}$$

where  $\mu_{-1} = b$ ,  $\mu_0 = a$ ,  $\omega_{-1} = d$  and  $\omega_0 = c$ 

*Proof.* The proof follows the form of the proof of the Theorem (2.1) and so will be omitted.  $\Box$ 



FIGURE 2. Sketch the behavior of the solution of (3)

**Example 3.1** Figure 2 demonstrates the behavior of equation (3) when the initial conditions  $\mu_{-1} = 2.3, \ \mu_0 = 1.5, \ \omega_{-1} = 1.4, \ \omega_0 = 3.1.$ 

4. THE SYSTEM: 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\omega_{n-1} - \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{-\mu_{n-1} + \omega_{n-1}}$$

In this section, we investigate the solutions of the system of two difference equations

(4) 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\omega_{n-1} - \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{-\mu_{n-1} + \omega_{n-1}}.$$

**Theorem 4.1.** Assume that  $\{\mu_n, \omega_n\}$  is a solution of system (4). Then for n = 1, 2, ..., we have

$$\mu_{6n} = \frac{a(abcd)^{2n}}{\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n}},$$
  

$$\mu_{6n+1} = \frac{ad(abcd)^{2n}}{(d-b)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n}},$$
  

$$\mu_{6n+2} = \frac{acd(abcd)^{2n}}{\{(c-a)(d-b)\}^{2n+1}\{(ad-cb)(cb-ad)\}^{n}},$$
  

$$\mu_{6n+3} = \frac{c(abcd)^{2n+1}}{(cb-ad)\{(c-a)(d-b)\}^{2n+1}\{(ad-cb)(cb-ad)\}^{n}},$$

$$\begin{split} \mu_{6n+4} &= \frac{bc(a-c)(abcd)^{2n+1}}{(cb-ad)\{(a-c)(b-d)\}^{2n+2}\{(ad-cb)(cb-ad)\}^n}, \\ \mu_{6n+5} &= \frac{acb(abcd)^{2n+1}}{(cb-ad)\{(c-a)(d-b)\}^{2n+2}\{(ad-cb)(cb-ad)\}^n}, \\ \omega_{6n} &= \frac{c(abcd)^{2n}}{\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^n}, \\ \omega_{6n+1} &= \frac{cb(abcd)^{2n}}{(d-b)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^n}, \\ \omega_{6n+2} &= \frac{(abcd)^{2n+1}}{d\{(c-a)(d-b)\}^{2n+1}\{(ad-cb)(cb-ad)\}^n}, \\ \omega_{6n+3} &= \frac{a(abcd)^{2n+1}}{(cb-ad)\{(c-a)(d-b)\}^{2n+1}\{(ad-cb)(cb-ad)\}^n}, \\ \omega_{6n+4} &= \frac{(ad)^{2n+2}(cb)^{2n+1}}{(cb-ad)\{(a-c)(b-d)\}^{2n+2}\{(ad-cb)(cb-ad)\}^n}, \\ \omega_{6n+5} &= \frac{(abcd)^{2n+1}}{b(cb-ad)\{(c-a)(d-b)\}^{2n+2}\{(ad-cb)(cb-ad)\}^n}, \end{split}$$

where  $\mu_{-1} = b$ ,  $\mu_0 = a$ ,  $\omega_{-1} = d$  and  $\omega_0 = c$ .

*Proof.* For n > 0 the result holds. Now suppose that n > 0 and that our assumption holds for n - 1, as follows:

$$\begin{split} \mu_{6n-6} &= \frac{a(abcd)^{2n-1}}{\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \mu_{6n-5} &= \frac{ad(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \mu_{6n-4} &= \frac{acd(abcd)^{2n-1}}{\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \mu_{6n-3} &= \frac{c(abcd)^{2n}}{(cb-ad)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \mu_{6n-2} &= \frac{bc(a-c)(abcd)^{2n}}{(cb-ad)\{(a-c)(b-d)\}^{2n+1}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \mu_{6n-1} &= \frac{acb(abcd)^{2n}}{(cb-ad)\{(a-c)(b-d)\}^{2n+1}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \omega_{6n-6} &= \frac{c(abcd)^{2n-1}}{\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \omega_{6n-5} &= \frac{c(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \omega_{6n-4} &= \frac{(abcd)^{2n}}{d\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \omega_{6n-3} &= \frac{a(abcd)^{2n}}{(cb-ad)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \omega_{6n-2} &= \frac{(abcd)^{2n}}{(cb-ad)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \omega_{6n-2} &= \frac{(adcd)^{2n}}{(cb-ad)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \omega_{6n-2} &= \frac{(adcd)^{2n}}{(cb-ad)\{(a-c)(b-d)\}^{2n+1}\{(ad-cb)(cb-ad)\}^{n-1}},\\ \end{split}$$

$$\omega_{6n-1} = \frac{(abcd)^{2n}}{b(cb-ad)\{(c-a)(d-b)\}^{2n+1}\{(ad-cb)(cb-ad)\}^{n-1}},$$

Now it follows from equation (4) that

$$\begin{split} \mu_{6n-3} &= \frac{\mu_{6n-4}\omega_{6n-5}}{\omega_{6n-5} - \mu_{6n-5}} \\ &= \frac{\left(\frac{acd(abcd)^{2n-1}}{\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}}\right)\left(\frac{cb(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}}\right)}{\left(\frac{cb(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}}\right) - \left(\frac{ad(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}}\right)} \\ &= \frac{acd(abcd)^{2n-1}.cb(abcd)^{2n-1}}{\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}.(cb-ad).(abcd)^{2n-1}}}{\frac{c(abcd)^{2n}}{(cb-ad)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}, cb-ad)\}^{n-1}}} \end{split}$$

and,

$$\begin{split} \omega_{6n-3} &= \frac{\omega_{6n-4}\mu_{6n-5}}{-\mu_{6n-5} + \omega_{6n-5}} \\ &= \frac{\left(\frac{(abcd)^{2n}}{d\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}}\right)\left(\frac{ad(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}}\right)}{\left(\frac{-ad(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}}\right) + \left(\frac{cb(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)\}^{2n-1}\{(ad-cb)(cb-ad)\}^{n-1}}\right)} \\ &= \frac{(abcd)^{2n}.(ad).(abcd)^{2n-1}}{d.\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}(-ad+cb).(abcd)^{2n-1}}} \\ &= \frac{a(abcd)^{2n}}{(cb-ad)\{(c-a)(d-b)\}^{2n}\{(ad-cb)(cb-ad)\}^{n-1}}. \end{split}$$

We can also prove the other relation. The proof is complete.



FIGURE 3. Sketch the behavior of the solution of (4)

**Example 4.1** In Figure 3 shows the behavior of the solutions of equation (4) where  $\mu_{-1} = -1.3$ ,  $\mu_0 = 3$ ,  $\omega_{-1} = 2$ ,  $\omega_0 = -2$ .

5. The System: 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\omega_{n-1} - \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{\mu_{n-1} - \omega_{n-1}}$$

In this section, we study the solutions to the following system of two difference equations:

(5) 
$$\mu_{n+1} = \frac{\mu_n \omega_{n-1}}{\omega_{n-1} - \mu_{n-1}}, \quad \omega_{n+1} = \frac{\omega_n \mu_{n-1}}{\mu_{n-1} - \omega_{n-1}}.$$

**Theorem 5.1.** Assume that  $\{\mu_n, \omega_n\}$  is a solution of system (2.4). Then for n = 1, 2, ..., we have

$$\begin{split} \mu_{6n} &= \frac{a(abcd)^{2n}}{\{(c-a)(d-b)(ad+cb)\}^{2n}}, \\ \mu_{6n+1} &= \frac{ad(abcd)^{2n}}{(d-b)\{(c-a)(d-b)(ad+cb)\}^{2n+1}}, \\ \mu_{6n+2} &= \frac{acd(ad+cb)(abcd)^{2n}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}, \\ \mu_{6n+3} &= \frac{c(abcd)^{2n+1}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}, \\ \mu_{6n+4} &= \frac{cb(abcd)^{2n+1}}{(d-b)\{(a-c)(d-b)(ad+cb)\}^{2n+1}}, \\ \mu_{6n+5} &= \frac{acb(ad+cb)(abcd)^{2n+1}}{\{(a-c)(d-b)(ad+cb)\}^{2n+2}}, \\ \omega_{6n} &= \frac{c(abcd)^{2n}}{\{(c-a)(d-b)(ad+cb)\}^{2n}}, \\ \omega_{6n+1} &= \frac{cb(abcd)^{2n}}{\{(c-a)(d-b)(ad+cb)\}^{2n}}, \\ \omega_{6n+2} &= \frac{acb(ad+cb)(abcd)^{2n}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}, \\ \omega_{6n+3} &= \frac{a(abcd)^{2n+1}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}, \\ \omega_{6n+4} &= \frac{(ad)^{2n+2}(cb)^{2n+1}}{\{(d-b)\{(c-a)(d-b)(ad+cb)\}^{2n+1}}, \\ \omega_{6n+5} &= \frac{adc(ad+cb)(abcd)^{2n+1}}{\{(a-c)(d-b)(ad+cb)\}^{2n+1}}, \end{split}$$

where  $\mu_{-1} = b$ ,  $\mu_0 = a$ ,  $\omega_{-1} = d$  and  $\omega_0 = c$ .

*Proof.* For n > 0 the result holds. Now suppose that n > 0 and that our assumption holds for n - 1, as follows

$$\mu_{6n-6} = \frac{a(abcd)^{2n-1}}{\{(c-a)(d-b)(ad+cb)\}^{2n-1}},$$
  

$$\mu_{6n-5} = \frac{ad(abcd)^{2n-1}}{(d-b)\{(c-a)(d-b)(ad+cb)\}^{2n-1}},$$
  

$$\mu_{6n-4} = \frac{acd(ad+cb)(abcd)^{2n-1}}{\{(c-a)(d-b)(ad+cb)\}^{2n}},$$
  

$$\mu_{6n-3} = \frac{c(abcd)^{2n}}{\{(c-a)(d-b)(ad+cb)\}^{2n}},$$

$$\begin{split} \mu_{6n-2} &= \frac{cb(abcd)^{2n}}{(d-b)\{(a-c)(d-b)(ad+cb)\}^{2n}},\\ \mu_{6n-1} &= \frac{acb(ad+cb)(abcd)^{2n}}{\{(a-c)(d-b)(ad+cb)\}^{2n+1}},\\ \omega_{6n-6} &= \frac{c(abcd)^{2n-1}}{\{(c-a)(d-b)(ad+cb)\}^{2n-1}},\\ \omega_{6n-5} &= \frac{cb(abcd)^{2n-1}}{(b-d)\{(c-a)(b-d)(ad+cb)\}^{2n-1}},\\ \omega_{6n-4} &= \frac{acb(ad+cb)(adcb)^{2n-1}}{\{(c-a)(d-b)(ad+cb)\}^{2n}},\\ \omega_{6n-3} &= \frac{a(abcd)^{2n}}{\{(c-a)(d-b)(ad+cb)\}^{2n}},\\ \omega_{6n-2} &= \frac{(ad)^{2n+2}(cb)^{2n}}{(d-b)\{(c-a)(d-b)(ad+cb)\}^{2n}},\\ \omega_{6n-1} &= \frac{adc(ad+cb)(abcd)^{2n}}{\{(a-c)(d-b)(ad+cb)\}^{2n+1}}, \end{split}$$

Now, from Equation (5) that

$$\begin{split} \mu_{6n+5} &= \frac{\mu_{6n+4}\omega_{6n+3}}{\omega_{6n+3} - \mu_{6n+3}} \\ &= \frac{\left(\frac{cb(abcd)^{2n+1}}{(d-b)\{(a-c)(d-b)(ad+cb)\}^{2n+1}}\right)\left(\frac{a(abcd)^{2n+1}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}\right)}{\left(\frac{a(abcd)^{2n+1}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}\right) - \left(\frac{c(abcd)^{2n+1}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}\right)} \\ &= \frac{acb(abcd)^{2n+1} \cdot \{(c-a)(d-b)(ad+cb)\}^{2n+1}}{(d-b)\{(a-c)(d-b)(ad+cb)\}^{2n+1} \cdot (a-c)\{(c-a)(d-b)(ad+cb)\}^{2n+1}} \\ &= \frac{acb(abcd)^{2n+1} \cdot (ad+cb)}{\{(a-c)(d-b)(ad+cb)\}^{2n+2}}, \end{split}$$

and,

$$\begin{split} \omega_{6n+5} &= \frac{\omega_{6n+4}\mu_{6n+3}}{\mu_{6n+3} - \omega_{6n+3}} \\ &= \frac{\left(\frac{(ad)^{2n+2}(cb)^{2n+1}}{(d-b)\{(c-a)(d-b)(ad+cb)\}^{2n+1}}\right)\left(\frac{c(abcd)^{2n+1}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}\right)}{\left(\frac{c(abcd)^{2n+1}}{(c-a)(d-b)(ad+cb)\}^{2n+1}}\right) - \left(\frac{a(abcd)^{2n+1}}{\{(c-a)(d-b)(ad+cb)\}^{2n+1}}\right)} \\ &= \frac{(ab)^{2n+2}.(cb)^{2n+1}.c(abcd)^{2n+1}}{(d-b)\{(d-b)(c-a)(ad+cb)\}^{2n+1}.(c-a)(abcd)^{2n+1}} \\ &= \frac{acd(abcb)^{2n+1}.(ad+cb)}{\{(d-b)(c-a)(ad+cb)\}^{2n+2}}. \end{split}$$

Hence, we can easily proof the other relations. The proof has been done.



FIGURE 4. Sketch the behavior of the solution of (5)

**Example 5.1** In Figure 4, we assume a numerical example for equation (5) where  $\mu_{-1} = 0.3$ ,  $\mu_0 = 0.1$ ,  $\omega_{-1} = 0.2$ ,  $\omega_0 = 0.42$ .

## 6. CONCLUSION

Scientists have shown great interest in trying to understand systems of difference equations. It is known that finding the system of difference equations that can be solved is only one of the challenges. Our interest in this work centered on obtaining the formulas for the solutions of the system (1). We have tried to formulate the solutions to the valid cases of the system (1). We provided some numerical examples for each case with different initial values to show numerical simulations of the system solutions.

## References

- G. Papaschinopoulos, C. J. Schinas, On a system of two nonlinear difference equations, J. Math. Anal. Appl. 219 (1998) 415-426.
- [2] E.A. Grove, G. Ladas, L.C. McGrath, C.T. Teixeira, Existence and behavior of solutions of a rational system. Commun. Appl. Nonlinear Anal. 8 (2001) 1–25.
- [3] X. Yang, Y. Liu, S. Bai, On the System of High Order Rational Difference Equations  $\mu_n = \frac{a}{\omega_{n-p}}, \omega_n = \frac{b\omega_{n-p}}{\mu_n c^{1/2} c^{1/2}}$ , Appl. Math. Comp. 171 (2005) 853-856.
- [4] Q. Din, M. N. Qureshi, A. Q. Khan, Dynamics of a fourth-order system of rational difference equations, Adv. Difference Equ. 215 (2012) 1–15.
- [5] N. Touafek, E. M. Elsayed, On the periodicity of some systems of nonlinear difference equations, Bull. Math. Soc. Sci. Math. Repub. Soc. Roum., Nouv. Sér. 55 (2012) 217-224. http://www.jstor.org/stable/ 43679253.
- [6] H. El-Metwally, Solutions form for some rational systems of difference equations. Dis. Dyn. Nat. Soc. 2013 (2013) 1-10.
- M. Kara, Y. Yazlik, Solvability of a system of nonlinear difference equations of higher order, Turk. J. Math. 43 (2019) 1533-1565. https://doi.org/10.3906/mat-1902-24.
- [8] E. M. Elsayed, Faris Alzahrani, Ibrahim Abbas, N. H. Alotaibi, Solutions of Some Difference Equations Systems and Periodicity, Journal of Advances in Mathematics. 16 (2019) 2347-1921. https://doi.org/ 10.24297/jam.v16i0.8057.

- M. Gumuş, Raafat Abo-Zeid, Qualitative Study of a Third Order Rational System of Difference Equation, Math. Moravic. 25 (2021) 81–97.
- H. Buyuk, N. Taskara, On the solutions of three-dimensional difference equation systems via pell numbers, Eur. J. Sci. Technol. 34 (2022) 433-440. https://doi.org/10.31590/ejosat.1082643.
- [11] E. M. Elsyaed, J. G. Al-Jauid, H. M. Alaikah, On the solutions of systems of rational difference equations, J. Prog. Rese. Math. 19 (2022) 49-59.
- [12] M. Kara, Y. Yazlik, On the solutions of three-dimensional system of difference equa- tions via recursive relations of order two and applications, J. Appl. Anal. Comput. 12 (2022) 736–753.
- M. Kara, Solvability of a three-dimensional system of nonlinear difference equations, Math. Sci. Appl. E-Notes. 10 (2022) 2147-6268. https://doi.org/10.36753/mathenot.992987.
- [14] L.S. Aljoufia, A.M. Ahmeda, S. Al Mohammadya, Global behavior of a third-order rational difference equation. J. Math. And Computer Sci. 25 (2022) 296–302.
- [15] E. M. Elsayed, A. Alshareef, Qualitative behavior of a system of second order difference equations, Eur. J. Math. Appl. 1 (2021) 15. https://doi.org/10.28919/ejma.2021.1.15.
- [16] E. M. Elsayed, J. G. AL-Juaid, The Form of Solutions and Periodic Nature for Some System of Difference Equations, Fund. J. Math. Appl. 6 (2023) 24-34. https://doi.org/10.33401/fujma.1166022.